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Teddy is given one !’*-WE’ for Both Teddy and

Christmas. Eva are wrong
because they both

have £10.

Eva is given two

Eva has two £5
| got more than you did vanas two

notes, which
because my number is T o
Teddy bigger. Teddy has a £10
note.

| got more than you

did because | got @A

two notes.

Who is correct?

Explain your reasoning.



Jack, Rosie and Amir each have some Rosie could have a
money in their pockets. £5 note.

Jack and Amir both have coins and Rosie =~ She could not

has a note. have a £10 or a
20 note because
they are larger
than Amir’s
amount.

| have more money
than Rosie.



Always, sometimes, never

Money in notes is worth more than

mMoney in coins.

Sometimes - if you
have £6 in coins it
IS worth more than
a £5 note.
However you could
also have less than
5 in coins.



